
Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Kerro desimaalit kymmenellä negatiivisella
potenssilla

9026, 8 × 0.01 = ________ 6201, 2 × 0.01 = ________

3414, 8 × 0.001 = ________ 7208, 5 × 0.001 = ________

3768, 2 × 0.0001 = ________ 6192, 5 × 0.01 = ________

1658, 7 × 0.1 = ________ 1780, 5 × 0.0001 = ________

2550, 6 × 0.01 = ________ 9096, 3 × 0.1 = ________

3752, 7 × 0.0001 = ________ 3912, 8 × 0.1 = ________

3405, 6 × 0.0001 = ________ 4936, 4 × 0.001 = ________

1159, 2 × 0.0001 = ________ 5713, 9 × 0.01 = ________

1736, 1 × 0.01 = ________ 9694, 9 × 0.001 = ________

4075 × 0.01 = ________ 8709, 5 × 0.01 = ________
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